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Time Allowed : Three Hours | %.s

Maximum Marks : 250

\ﬁ QUESTION PAPER SPECIFIC INSTRUCTIONS
s
(Please r,pmi@ - Qu‘ﬁhﬁ:’ fo“owing instructions carefully before attempting questions)

- é( %" s 2 . . ' :
Thd{f nci) UGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH,

Candidate has to attempt FIVE questions in all,

Question Nos. 1 and 5§ are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one,

Word limit in questions, wherever specified, should be adhered 0.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself,

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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WUE—A | SECTION—A
1. fr=fafae # @ ¥@% 3@ 31 30 o™ 150 =41 #§ 99T ;

Answer the following questions in about 150 words each : 10x5=50

(@) ¥ wwEiuFE: Afrmuies aEm dma sfafm § ade sfeem e w5 27
Does a monopolistically competitive market lead to excess capacity under price
competition?

() frh =i f wwfrer of =1 s w0 % o 5o 96 @ = Hiftmg

Explain some of the mcasures for assessing the monopoly power of a firm.

(c) #Mge YHo-Ueo YHo HIEw @1 Wi HW ¥ Fwivy fs wenfym s fr won dgem fofa &
T AFIR WA F @ WA FOFR0 a4 qwdQ R

Using the IS-LM model, show how expected deflation may cause equilibrium
output to remain at less than full-employment level.

(d) 0 véifa-wag nfany (Mm)mamﬁmmmm&mqﬂm%?maﬂ@;m
Fm dfam \‘

Is stagflation a logical outcome of Keynesian orthodpxy? Giﬁ:‘\?as{f‘ons for

your answer, 0\\ \ @

fe) z=-wfe g T ¥ wWe Hifey & segHEE oﬂtﬁ%ﬁmﬁmmm-mﬁamm
T T T wafE A # \ _ \ \

. ! A &
What is high-powered m 1) ?i\E:Epla.in how changes in short-term monetary
policy al'fcc\{. x.l'\iigh-a“ :

\KJ y moncy and moncy multiplier.
220

2. (a)) we- ﬁ:g{ﬁdﬁ:(ﬂﬁ@:)&;ﬁ-mﬁmﬁmﬁﬁmmmwﬁﬁ{almﬁﬁ
dien 3 61 Jow Sl

Explain why in a duopoly model of collusion, each firm has an incentive to
cheat the other. 15

(b) gy 6 sremfirenr arn § el B % By o vea of R vEn s D smed & sy
% wrd W ogwdf R

Show how a dominant firm with a competitive fringe can act as a price leader in
an oligopoly market. 15

() st R famen fedilt i woten wegn P W @ Tl ww A gRy o ww R 0 F
s F faam W avE ® e D

Give an outline of Kaldor’s theory of distribution. Also explain the implications

of an increase in the wage level and a reduction in the saving rate on the

distribution of income. 20
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3. (a)

(b)

(c)

4. (a)

(b)

fc)

(0%

(a)

nower the following questions in about 150 words each :

W@ wRad) sisa § aft i ol w36 ome % wem 9, W o T wem nwifaa @i

In the simple Keynesian model, if consumption and investment are both
functions of income, how would the multiplier be affected?

fecitfim 7 ¥7 s A s dEeos (3RfRE) fRard 2R 8 Reife % s
#1 = Fifa)

What is hysteresis? Explain the impact of hysteresis in Gradualist Monetarist
and Eclectic Keynesian frameworks.

T4 el el = yawe w0 [ A arafes awa win 9F W e TR S s

How will you derive the real aggregate demand curve using the New Classical
Theory?

W T AEA T AT 7 T Fam A GEET wOwAE I gU aneE |
What is interest rate targeting? Explain using the concept of Taylor rule.

391 43l nferefien areft geh mh‘mﬁﬁﬂmmg&mmmmﬂm

21 =wen Hifw) ‘.\\ WD
In an open economy with high capital mobility, monctar_f,r agement ca
a successful tool to increase output. Explain. o o

mmmmmm?ﬁmaﬁwﬁizﬂmm W\lmmmwm
EERY \

The burden of tax dr.;pcndqtu@a the clastlc:ty of demand and supply of a
commodity or sc 'u:a: “Explmn with suitable examples.

@\m TWUs—B / SECTION—B

ﬁmmm‘mm 150 w=31 3 4 .

v frward) 719 3, 5 Rafel § sagem 2o afude 4w ok s Ty

Under what conditions will devaluation create trade surplus and incresse
output in the simple Keynesian framework?

(b) Fiem fr Fm B {7 o geaA 3 we anm Bt w o atmn @ S 8

fc)

EGT-P-£COR/4 3

What are shadow prices? Why are these preferred over market prices in
project evaluation?

Wik & 32 ¥ niza §, iz yeiE e X anfie (arez) dafe o @ w9, @ arat
a3l% @ 3 yenfim wWef @ & dra w0 Wy dme

In Harrod’s model of growth, if the expected growth rate exceeds the warranted

growth rate, what will be the relation between the actual growth rate :nd the
cxpected growth rate?
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(d)

fe)

6. (a)

(b)

fc)

7. (a)

(b)

fc)

amwrard Fa TER AU seEem ® Ia w87 @ Rufs @ R oo svem fea @
Rl of

How do externalities lead to market failure? How can this situation be
remedied?
frm fafem @ % siwin w1 e (Feg@fea 9E) & wize A FREn wwE At

Give an outline of a model of speculative attack under fixed exchange rate.

wita ) wErEm | Ty 76 vaek @ st arw A el feerd B germes arm faad @
fEm waR 3@ 2

Explain, with the help of diagram, how Haberler’s theory of opportunity cost
is an improvement over the comparative cost theory of Ricardo.

WA W FR a9 wwe sen A s wyes wfaed] amm # gen @R @ w gefien A
TE | AR

15

o
A quota on import and an equal-import tarifl are equivalent in a compcﬁiﬁ\-\\
5

market but not under monopoly. Explain. \
(o]
e fawm g w0 ¥ mmfmmng‘i#om‘ﬁtﬁ'a ‘%ﬂ@wg\u?mm
i A c\
.\

What is Doha Development ﬂ\genqﬁWIm how it negotiated TRIPS and
TRIMS among nations. = ‘

AneN

ﬁ@mﬁmmmnmﬁmmm%mwamﬁmwﬂawﬁm
i AR W W wEa ¥ gEEen

Development of human capital may lead to constant returns and propel an
economy to self-sustaining economic growth. Explain,

Toga uie et § i spEams § Wl om W e we ¥ wn o ¥ s i
forwfom aa fammefie 3ot & ome swmmal ® wafl @ Reew w1 arR @ 3 w9
IR & auda ¥ od

Kuznets hypothesis predicts decline in income inequalities in the long run. In
recent decades do trends in income inequalities in developed and developing
economics support this hypothesis? Give reasons for your answer.

w8 SR % we e fwm & s gdn F wise @ e Afg @ 9m W@
Uo Fo 1 H1 W e 27

Examine Arthur Lewis model of economic development with unlimited supplies
of labour. What is A. K. Sen’s critique of that approach?
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8. (a) waEmE & fFm wo anfds fawm & amm a v A ffeed gt A o T

Explain why the market and the State have complementary roles in economic
development, 15

(b) TaFwIa A ? ftn s R fee weR i fedm 3gs w5 A7

How does rural economic activity create environmental degradation in
developing economics? 15

fc) wowew® quiavfa wgmsd A @ & g s W2 @ At gandhe

What policies would you suggest to combat necgative environmental
externalities? 20
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